e TEST i (s

PART 1 ]

For questions 1-15, read the text below and decide which word A, B, C or D best fits each space.
There is an example at the beginning (0). Mark your answers in the answer boxes provided,
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Belgian Chocolate

Spending a day at a chocolate factory would be a dream come (0) ... for most chocolate lovers. In fact
people who work in chocolate factories would not agree because they are (1) .... by chocolate all day long.
At one of Europe’s most important chocolate factories, (2) -... in Belgium, the weeks hefore Easter are the
most hectic of the year. Last year the factory produced 1,500 tonnes of chocolate. On areally (3) ... day 14
to 15 tonnes are made which are (4) .... for 136 different outlets around Europe. Belgium is the biggest
exporter of chocolate in Europe. In 1992 it produced 313 tonnes. The day at the factory begins when lorries
arrive, (5) .... the finest coating chocolate, which is made from South American cocoa beans. The dark, milk
and white chocolate which (6) .... becomes the shells of luxury chocolates is put into giant melting tanks on
the (7) .... floor. From here liquid chocolate is pumped to the first floor through long pipes which (8) ...
across the ceiling of the factory, descending into the mouths of machines. The factories’ laboratories are
where chemistry (9) .... cookery and new ideas are {10} ..... The shelves are packed with (11) .... creations.
Bottles of essence and spice occupy a whole room. In Belgium, chocolate is a national (12) ...., eaten with
pride not guilt and eaten in (13) .... amounts. It seems that the (14) .... of Europe is catching up though,
because since 1980 chocolate consumption in Europe has (15) .... by more than a third.

0 A apparent B alive C true D real 1} él é a %
1 A enclosed B circled C framed D surrounded 1| LN
2 A pu B situated C positioned D placed 28 2855
3 A occupied B engaged C busy D active 3 é é é ‘%
4 A transmitted B destined C sent D forwarded 4 r_ﬁ] é é rgl
5 A fetching B taking C carrying D loading 5 F_A_I l% é lgr
6 A after B consecutively C lastly D eventually [ é é é %
7 A dowm B base C under D ground T é’ é lgl %
8 A tum B run C are D stick 8 1':“3 é é %
9 A alters B replaces C substitutes D changes 9 é % é l%
10 A done B tested C examined D made 10 A B CD
o e e ]

11 A separate B unlike C respective D different 1 é; é é é]
12 A institution B habit C custom D foundation 12 A B CD
Gt =

13 A many B wide C large D numerous 13 é, é. é:_“ &
14 A remains B rest C remaining D left 14 A B COD
i o B ol I =]

15 A risen B enlarged C expanded D raised 15 él é é %

PART 3

For questions 31-40, complete the second sentence so that it has a similar meaning to the first
sentence, using the word given. Do not change the word given. You must use between two and
five words, including the word given. There is an example at the beginning (0). Write only the
missing words in the answer boxes provided.

O I'm sure she lied to you.

7 012
finve | l3| rmust have lied 0 DEJ
She. o you.

31 Even though she’s famous, she leads a quiet life.
fame |31| Iaw 012 !
Despite a quiet life. =2E0
32 Let’s stay in and watch TV tonight. ¥
staying |32 l 132 012
What TV tonight? by
33 Ann hasn’t typed the letters yet.
been 133 I 133 012
The JEUETS .o sssasssrsas yet, SEIC
34 You have gained a Jot of weight recently.
on IS#{ ':34 01
You .. ... a lot of weight recently. HEm
35 My mother doesn’t want me to drink alcohol.
objects ¥ ISS{ lss 01 2
My mother alcohol. S5
36 He was so tired that he didn’t go to the party.
too [36{ las 012
He was to the party. Sl
37 They had no choice but to surrender to the enemy.
. a7 a7 0 1 2
n =TT
They had no choiCe ......cvmeenirinecsiinienns the enemy.
38 She didn’t ring the bell so as not to wake him.
waking l;[ Ias 012
She didn’t ring the bell - him. S
38 She went out when she had finished her dinner.
before [39 | jas 012
She:swwmnsmmE she had finished her dinner. i
40 It takes me an hour to get to work.
take l4o | 140 012
I. towork. e

¥
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For guestions 16-30, read the text below and think of the word which best fits each space. Use
only one word in each space. There is an example at the beginning (0). Write your word in the
answer boxes provided

T e R NN R
Holland

Holland has many beaches, both developed (0) .... deserted, all along (16) .... Northern coastline. One
ofthe (17) .... famousis Scheveninger, This was once a fishing port, but ( 18) .... became the resort preferred
(19) .... nobility. Now it’s (20} .... everyone goes to enjoy sea, air and sun.

There are many delightful old towns in Holland. Rotterdam, one of the Jargest of (21) ..., , is the home.
of one of the world’s most spectacular zoos. The city centre, (22} .... was rebuilt after wartime bombing,
‘boasts some very advanced modern architecture.

The Hague is (23) .... quieter but it has a charm of its (24) .... . It is also good for shopping and the
buildings are beautiful.

Delft has many historical claims (25) ... fame, but is probably best known (26) .... its porcelain. There
are factories where you can watch it (27) ... made.

Finally Gouda, famous for its cheese, is a very large town (28) .... a busy market square. In summer you
can go 1o a beautifully restored old building, housing a fascinating exhibition (29) .... cheesemaking. So it
seems that windmills and tulips are not (30) ... that Holland is worth visiting for.

Fo
co

if aline is correct, put a tick { ) by the number in the answer boxes provided. If a line has a

1] and e O
16 :'m:l
17 :17:|
18 — 18—
19 l—_—l|9\:!
20 —20
21 |:|21D
22 l:|22|:]
23 —28
24 =24
25 |:25I:!
26 :26|:‘
27 I:Iz7I:I
28 =28
29 :ngm
30 —30
| PART 4 |

r guestions 41-55, read the text below and look carefully at each line. Some of the lines are
rrect, and some have a word which should not be there.

word which should not be there, write the word in the answer boxes provided. There are two
examples at the beginning (0 and 00).

A Day on the Slopes
0 Twas really to excited when we set off for our day 0 o | |

00 on the slopes. The journey through the mountains 100 v 0,
41 was fabulous. On our arrival our instructor he told us 41 & |
42 to get skis and put them on. This is the easier said than done. 42 a2
43 1had to ask two other people to help me 43 A8 |
44 get into the boots. We did looked totally out of place 44 el |
45 with our woolly jumpers and leggings. Everyone else was 45 ,:45::
46 in proper ski-wear. We eventually reached at the a8 A5
47 so-called nursery slope. There were a little kids moving a7 a7
48 past us, making us to look even more stupid, as we tried 48 i

49 desperately to maintain our balance and remain upright. 49 fom
50 My hour on the slope was spent mostly in picking 50 L
51 myself up again and again. Eventually, I had to be 51 b

52 carried off as I did it the unforgivable and fell forward. 52 52
53 Istumbled to the ski lift and had to have my leg get bandaged. 53 5

54 It was mildly embarassing to say at the least. Anyway, 54 £
55 Ireally enjoyed being there and watching the others. 55 =

| PART 5

For questions 56-65, read the text below. Use the word given in capitals at the end of sach line

to form a word that fits in the space in the same line. There is an example at the beginning (0).
Write your word in the answer boxes provided.

Sleepwalkers 0 I O
Sleepwalking is the acting out of (0) .... and anxious CONFUSE i: :5’,-7:'
{586) ... that occur during deep sleep. Contrary to THINK E; =
popular (§7) -... it has nothing to do with dreams. BELIEVE 58 =]
Sleepwalking is more common in children than in 59 (=]
adults and often happens as a (58) .... to stress - such RESPOND 60 B0
as having a difficult day at scheol, or the (59) .... of LOSE 61 6

a favourite possession. The sleepwalker {60) .... TYPE 62 62
moves around the room in a clumsy and (61) ... way CONTROL 63 o
before returning to bed. This (62) ... usually lasts up BEHAVE Py Eim
to thirty minutes. It is (63) ... to wake up a sleep- WISE =0
walker, because this can be (64) .... and may cause FRIGHT s ST
acute (65) ... . ANXIOUS



